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Q.1
“Not that I loved Caesar less, but I loved Rome =

(a) more
(b) minutely
(c) many
(d) much

Ans A1
X B.2
X C.3
X D.4

Question ID : 223395614
Status : Answered
Chosen Option : A
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Q.2
Directions: In the table given below, column 1 lists down causes and column 2 lists down
effects. For each of the causes, mark the corresponding effects if any.
CAUSE EFFECT
1) The media has the ability to reach vast | A. TV actors specializing in comedy are in
number of people. great demand.
2) Comedy serials are the most popular | B. Mythology based serials are making a
shows on television. comeback on Indian television.
3) Indians are very religious n nanwe C. Many companies use the media (o
advertise their products and services.
4) Several foreign channels have started | D. The media is very effective in influencing
operations m India. public opinion.
The media has the ability to reach vast number of people.
(a) Cand D
(b) A only
(c) B only
(d) D only
Ans A1
X B.2
K C.3
X D.4
Question ID : 223395616
Status : Answered
Chosen Option : C
Q3
Answer the guestion following the text.
Recent research indicates that increased consumption of fiuits and vegetables by middle -aged
people reduces their susceptibility to stroke in later vears. The researchers speculate that this
may be because fruits and vegetables are rich in folic acid. Low levels of folic acid are
associated with high levels of homocysteine, an amine acid that contributes to blocked
arteries.
Which one of the following statements is most strongly supported by the information above?
() An increased risk of sivoke is correlated with low levels of homocysieine.
() A decreased risk of stroke is correlated with increased levels of folic acid.
(c) An increased propensity for blocked arteries is correlated with decreased levels of
hormone.
(d) A decreased propensity for blocked arteries is correlated with low levels of folic acid.
Ans X A1
o B.2
K C.3
X' D.4
Question ID : 223395619
Status : Answered
Chosen Option : B
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Q4
Give one word for

A person who renounces the world and practices self discipline in order to attain
salvation

(a) Antignarian
(b) Ascetic
(¢) Devotee
(d) Skeptic

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395602
Status : Answered
Chosen Option : B

Q.5

The truck its load on the road

(a) jeopardized
(b) monitored
(c) jaded

(d) jettisoned

Ans X A.1
X B.2
K C.3
& D. 4

Question ID : 223395610
Status : Not Answered
Chosen Option : --

Q.6
I would die than suffer so.
(a) often
(b) soon
(c) later
(d) rather

Ans X A.1
K B.2
X C.3
& D. 4

Question ID : 223395612
Status : Answered
Chosen Option : C
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Q.7

Ans

He told me that the sun with a beautiful display of colours.

(a) risen
(b) rose
(c) wakes up
(d) was rising

XA

& B.2
K C.3
X D.4

Question ID : 223395608
Status : Answered
Chosen Option : A

Q.8

Ans

Arrange the following jumbled senfences in a way so as fo make a meaningfil
paragraph. Mention the letter marked against each sentence in order as answer.

A)Whatever the reasons may be, the effects ave disastrous leading to both
physical and mental ailments like insomnia, hypertension and nervous
breakdown ete.

B) According to psychelogists it is the result of fear due to inexperience,
deprivation, isolation and feeling of inferiority among them.

C) It is a matter of grave concern that *stress’ or ‘mental pressure’ has emerged
as a deadly and silent killer for teenagers of the day.

D) In order to prevent these catastrophic diseases, children need to be taught to
‘de-stress themselves’ through meditation or cultural activities and this will
inculcate feelings of self confidence in them and inspire them to face the
realities of life in a better way.

(a) CBAD
(b) ADEC
(9] CBAD
(d) DCBA

o A1

X B.2

Xcs3

X D.4

Question ID : 223395617
Status : Answered
Chosen Option : A
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Q.9
“Everyone was cheering madly, and Ranji was jumping up and down, and Bhim’s
olasses had been off.”

(a) destroyed
(b) knocked

(c) pull
(d) secured

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395613
Status : Answered
Chosen Option : A

Q.10
Choose the option which gives the correct meaning for the given idiom.

At dragger's dawn
(a) deceiving some one
(b) bitterly hostile
(¢) without hope
(@) friendly with each other

Ans X A1
 B.2
K C.3
X D.4

Question ID : 223395622
Status : Not Answered
Chosen Option : --
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Q1
Read these sentences about the Sahara Desert.
Sahara is a desert. It has nothing but sand and rock. It is hard for people to
walk on it barefoor. The desert is foo hot for it.
Which of the following sentences best combines the above?
(a) Sahara is a desert with nothing but sand and rock which makes it too hot
for people to walk barefoot on it.
(b) The desert of Sahara is very hot with sand and rock and people find it hard
to walk on it.
(c) The desert of Sahara becomes hard for people to walk on it because of sand
and rock.
(d) Sahara is a desert that is impossible to walk on as it becomes very hot
because of sand and rock.
Ans AT
< B.2
X C.3
K D.4
Question ID : 223395625
Status : Answered
Chosen Option : A
Q.12
Words such as ' UNICEF ' and "WHO' are instances of-———-
(a) Conversion
(b) Acronym
(¢) Compounding
(d) Duplicating
Ans X A1
o B.2
< C.3
K D.4
Question ID : 223395618
Status : Not Answered
Chosen Option : --
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Q.13
Fill in the blanks with the right option. I saw an insurmountable barrier me

and my fellow-men; this barrier was sealed with the blood of William and Justine;
and to reflect on the events connected with those names filled my soul with
anguish.

(a) Placed between
(b) Placed straight
(¢) Laid straight
(d) Placed vertically
Ans A1

X B.2

K C.3

K D.4

Question ID : 223395606
Status : Answered
Chosen Option : A

Q.14
Give one word for

A county run by the rich
(a) Oligarchy

(b) Plutocracy

(¢) Theocracy

(d) Autocracy

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395601
Status : Not Answered
Chosen Option : --
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Q.15

Ans

In the question. four words are given. of which two words opposite in meaning. Mark the correct

answer.
A. Nadir
B. Zenith
C. Distant

D. Placid

(a) BC
(b) AD
ic) AB

(d) BD

KA1
X B.2
& C.3
X D.4

Question ID : 223395605
Status : Answered
Chosen Option : D

Ans

Choose the appropriate title for the given passage:

Once there was a boy who lived with his grandfather, grandinother. and aunts. One
day the father bought a monkev for five rupees from a Tonga -driver and named it
'Toto'. Grandfather decided he would add the little fellow to his private zoo. Toto was a
pretty monkey who was mischievous as well. But grandmother didn’t like pets, she
always screamed if she saw one inside the house. So the boy and his grandfather decided
that the presence of Toto must be kept a secret. Toto was tied to a peg fastened to the
wall. In an attempt to get free, it tore the wall papers and curtains. The next day
grandfather had to go to Saharanpur for collecting his pension. He could not take the
risk of leaving Toto with his grandson and so he took along with him. The boy tried
really hard to convince his grandmother to keep Toto as a pet, and finally, she agreed.

She decided to let Toto stay in the stable with Nana, their donkey.

(a) Grandfather and Grandmother
(b) Toto : The Monkey

() My Pets

(d) Nana

X A1
& B.2
Xcs3
X D.4

Question ID : 223395620
Status : Answered
Chosen Option : B
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Q.17

Ans

Choose the correct antonym for the given word:
Colossal
(a) Tiny
(b) Large
(¢) Magnificent
(d) Marvellous

o A1
X B.2
X cC.3
X D.4

Question ID : 223395624
Status : Answered
Chosen Option : A

Q.18

Ans

Choose the option which gives the correct meaning for the given idiom.
After being caught with drugs at school. Nick was in dire straits over what awaited him at
home.

(a) in a very bad situation

(b) in a safe sitnation

(c) afraid of getting Killed

{d) afraid of death

o A1
X B.2
Xcs3
X D.4

Question ID : 223395623
Status : Answered
Chosen Option : A
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Q.19
Out of the three sentences given as A, B and C find out which two or three

sentences convey the same meaning:
A, If1 don't buy some new music every month, I get bored with my collection.

B. I don’t get bored with my collection, if I buy some new music every month.

C. Until I upgrade my collection every month I don’t get bored.

(2) BC
(b) AB
(c) ABC

(d) None of the above

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395603
Status : Answered
Chosen Option : B

Q.20
One who loves helping and caring for others is called as a/an
(a) Anthropology
(b) Altruist
(c) Alwyn
(d) Almighty

Ans X A1
& B.2
X C.3
X D.4

Question ID : 223395607
Status : Not Answered
Chosen Option : --
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.21
h In the question, four words ave given, of which two words are most nearly the same. Mark the
correct answer.
A, Ardour
B. Artful
C. Passion
D. Concord
(a) AB
(b) BC
(€) AC
(d) CD
Ans X A.1
< B.2
« C.3
X D.4

Question ID : 223395604
Status : Answered
Chosen Option : B

Q.22
Answer the question following the text.

‘While tablet computer sales have increased steadily over the last few years, we can
expect a reversal of this trend in future. Since they became popular in the market place
five years ago, sixty percent of tablet computers sold have been purchased by people
from eighteen to twenty-five vears of age, and the number of people in this age group is
expected to decline steadily over the next fifteen yeans.

‘Which of the following, if true, would most seriously weaken the argument?

(a) New technology will make new computing options available over the next fifteen

years.

(b) Most purchasers of tablet computers over the past two vears have been in the age
group of twenty-five.
(c) Most people under the age of eighteen have never purchased a tablet computer.

(d) The number of different types of tablet computers available is likely to increase in

the near future.

Ans X A.1
o B.2
X C.3
X D.4

Question ID : 223395621
Status : Answered
Chosen Option : A
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Q.23
He has a party every weekend and his friends to it without fail.

(a) coming

(b) join

(c) come

(d) had been coming

Ans X A.1
X B.2
& C.3
X D.4

Question ID : 223395609
Status : Answered
Chosen Option : C

Q.24
Complete the proverb — One finger cannot lift a

(a) tiger
(b) tree
(c) pebble
(d) tray

Ans X A1
X B.2
& C.3
X D.4

Question ID : 223395611
Status : Answered
Chosen Option : B

Q.25
“Hope is the thing with feathers that _ in the soul”

(a) responds
(b) makes visits
(¢) perches

(d) occupies

Ans X A.1
X B.2
& C.3
X D.4

Question ID : 223395615
Status : Answered
Chosen Option : C

Section : General Awareness
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QA1

What is the acid present in lemon

(a) Oxalic acid
(b) Gluconic acid
(c) Trataric Acid
(d) Citric Acid

Ans X A.1
X B.2
X C.3
& D.4

Question ID : 223395635
Status : Answered
Chosen Option : D

Q2
The “Himalayvan Tsunami” of 2013, resulted due to

(a) Earthquake
(b) Cloud Burst
(c) Flood

(d) Landslide

Ans X A.1
o B.2
K C.3
X D.4

Question ID : 223395631
Status : Answered
Chosen Option : B
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Q.3

Ans

Which vegetable, among the following is of Indian origin?
(a) Jackfruit

(b) Potato

(c) Chilly

(d) Tomato

& A1
X B.2
X cC.3
X D.4

Question ID : 223395627
Status : Answered
Chosen Option : C

Q4

Ans

‘Which of the following hills connect eastern and western ghats?

(a) Satpura
(b) Vindhya
(¢) Nilgiri
(d) Aravali
KA
X B.2

& C.3
X D.4

Question ID : 223395645
Status : Not Answered
Chosen Option : --

Q.5

Ans

What is the full form of ASEAN?

(a) Association of Southwest Asian Nations
(b) Association of Southeast American Nations
(¢) Association of Southeast Asian Nations

(d) Association of Southeast African Nations

X A1
X B.2
& C.3
X D.4

Question ID : 223395646
Status : Answered
Chosen Option : C
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Q.6
The revolutionary poem “Sarfaroshi ki tamanna ab hamare dil mein hai” was

penned by
(a) Bhagat Singh
(b) Bismil Azimabadi
() Chandrashekhar Azad

(d) Ashfaqulla Khan

Ans X A.1
 B.2
< C.3
X D.4

Question ID : 223395626
Status : Answered
Chosen Option : C

Q.7

Bhimbetka in Madhya Pradesh is known for
(a) Ancient temple architecture

(b) Largest Mosque

(¢) Ancient cave paintings

(d) Jain temples

Ans X A1
X B.2
& C.3
X D.4

Question ID : 223395630
Status : Answered
Chosen Option : A
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Q.8
The ‘Dronacharva Award’ is given to?
(a) Sportsmen
(b) Coaches
(c) Umpires
(d) Sports Editors

Ans X A1
 B.2
K C.3
X D.4

Question ID : 223395637
Status : Answered
Chosen Option : B

Q9
Where is National Sugar Institute established?

(a) New Delhi
(b) Kanpur
(c) Gajrola
(d) Lucknow

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395643
Status : Not Answered
Chosen Option : --
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Q.10

Tansen, a great musician, was in the court of-

(a) Akbar

(b) Bahadur Shah

(¢) Rana Kumbha
(d) Krishna Deva Rai

Ans A1
X B.2
K C.3
K D.4

Question ID : 223395642
Status : Answered
Chosen Option : A

QN

‘Who is known as “Nightingale of India™?
(a) Lata Mangeshkar

(b) Sarojini Naidu

(¢) Amrita Pritam

(d) Asha Bhonsle

Ans X A1
o B.2
X C.3
X D.4

Question ID : 223395628
Status : Answered
Chosen Option : B
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Q.12

Which among the given options is not a feature of organic farming

(a) Very less energy consumpfion

(b) Use of syntheftic fertilizers

(¢) The non-use of chemical fertilizers & pesticides

(d) Seil is nurtured for furture use by maintaining micreo-organisms

Ans X A.1
 B.2
< C.3
X D.4

Question ID : 223395634
Status : Answered
Chosen Option : A

Q.13
Water gas is a mixture of

(a) CO and H2

(b) NH4 and HS

(c) CH4 and H2

(d) CO2 and H2

Ans A1
K B.2
X C.3
X D.4

Question ID : 223395633
Status : Answered
Chosen Option : A
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Q.14

Ans

The creator of 'Sherlock Holmes' was-

(a) Arthur Conan Doyle
(b) lan Fleming

(c) Dr. Watson

(d) William Shakespeare

o A1
X B.2
Xc3
X D.4

Question ID : 223395639
Status : Answered
Chosen Option : D

Q.15

Ans

Patanjali is well known for the compilation of

(a) Yoga Sufra

(b) Panchantantra
(c) Brahma Sutra
(d) Ayurveda

o A1
X B.2
X C.3
X D.4

Question ID : 223395638
Status : Answered
Chosen Option : A

Q.16

Ans

The speed of light will be minimum while passing through-

(a) Air

(b) Water
(¢) Glass
(d) Vaccum

XA
X B.2
& C.3
X D.4

Question ID : 223395644
Status : Answered
Chosen Option : D
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Q.17

Ans

‘Who was the first Governor-general of India

(a)Lord William Bentinck
(b)Lord Amherst
(c)Robert Clive

(d)Lord Linlithgow

o A1
X B.2
X c3
X D.4

Question ID : 223395632
Status : Not Answered
Chosen Option : --

Ans

National Sports day is recognised on which date?

(a) 25 July

(b) 29 August

(c) 13 September
(d) 17 October

X A1
o B.2
K C.3
X D.4

Question ID : 223395647
Status : Not Answered
Chosen Option : --
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Q.19
The only active Volcano in India is in
(a) Andaman & Nicobar Islands
(b) Lakshadweep
(¢) Ladakh
(d) Daman
Ans A1
K B.2
xc3
X D.4
Question ID : 223395629
Status : Answered
Chosen Option : A
Q.20
Which of the following is a Donor blood group?
@@ O
(b) AB
(cp B
(d) None of these
Ans A1
K B.2
xc3
X D.4
Question ID : 223395636
Status : Answered
Chosen Option : A
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Q.21

Ans

International Women’s Day celebrated on
(a) 1 January

(b) 23 February

(c) 8 March

(d) 10 April

X A1
X B.2
& C.3
X D.4

Question ID : 223395650
Status : Answered
Chosen Option : C

Q.22

Ans

In which ocean 'Bermuda Triangle' region is located?

(a) Atlantic
(b) Indian
(c) Pacific
(d) Arctic

& A1
X B.2
X cC.3
X D.4

Question ID : 223395640
Status : Answered
Chosen Option : C

Q.23

Ans

Because of the following reasons, alpha radiation is not used in radiotherapy:

(a) It is an ionizing radiation

(b) It is unable to penetrate human skin
(c) Tt is toxic to human tissues

(d) It is not cost effective

X A
o B.2
Xc3
X D.4

Question ID : 223395648
Status : Not Answered
Chosen Option : --
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Q.24
Integrated Goods and Services Tax Act is applicable to

(a) All the States

(b) All the Union territories

(c) The whole of India

(d) All the states except Jammu and Kashmir

Ans X A.1
X B.2
& C.3
X D.4

Question ID : 223395641
Status : Not Answered
Chosen Option : --

Q.25
Anand Math is written by -
(a) Rabindranath Tagore
(b) Mahatma Gandhi
(¢) Bankim Chandra Chatterjee
(d) B.R. Ambedkar

Ans X A1
X B.2
& C.3
X D.4

Question ID : 223395649
Status : Answered
Chosen Option : C

Section : Reasoning

Q.1
Pipe A usually fills a tank in 2 hours. On account of a leak at the bottom of the tank, it

takes pipe A 30 more minutes to fill the tank. How long will the leak take to empty a full
tank if pipe A is shut?

(a) 2 hours 30 minutes
(b) 5 hours

(¢) 4 hours

(d) 10 hours

Ans X A.1

X B.2

K C.3

' D. 4

Question ID : 223395670
Status : Not Answered
Chosen Option : --
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Q.2
If “*CUPBOARD’ is coded as ‘CXPBXXRD"® how will ‘CRAFT" be coded?

(a) CRAXT
(b) CRAFX
(c) CRXFT
(d) XRAFT

Ans X A1
X B.2
& C.3
K D.4

Question ID : 223395657
Status : Answered
Chosen Option : C

Q.3
Choose the pair in which the words are differently related?

(a) Nickel : Gold
(b) Iron : Axe

(c) Pant : Fabric
(d) Table : Wood

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395665
Status : Answered
Chosen Option : A

Q4
Find out the number which is different from other three numbers

(a) 133
(b) 326
(c) 515
(d) 429
Ans X A.1
X B.2
X C.3
& D.4

Question ID : 223395661
Status : Not Answered
Chosen Option : ==
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Q.5

Ans

Six people are playing a card game. Suresh is facing Raghubir who is to the left to Ajay
and to the right of Promod. Ajay is to the left of Dhiraj. Yogendra is to the left of
Pramod. If Dhiraj exchanges his seat with Yogendra and Pramod with Raghubir, who
will be sitting to the left of Dhiraj?

(a) Yogendra
(b) Raghubir
(c) Suresh

(d) Ajay
KA1

X B.2

" C.3

X D.4

Question ID : 223395674
Status : Answered
Chosen Option : D

Q.6

Ans

What is the missing term f the following relation

6:21: 18:2

(a) 63
(b) 36
(c) 56
(d) 87

o A1
X B.2
X cC.3
X D.4

Question ID : 223395667
Status : Answered
Chosen Option : B

Q.7

Ans

If the ‘BOY’ is coded as ‘ACNPXZ’ then for what word do the letters “RTNPMO’
stand?

(2) SON
(b) CUT
(c) PEN
(d) RAT
o A1
X B.2
X c.3
X D.4

Question ID : 223395656
Status : Answered
Chosen Option : A
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Q.8

Ans

I 3x6=184x7=22,.9x1=20then5x2="7
(a) 14
(b) 10

©

7

(@ 50

o A1
X B.2
Xcs3
X D.4

Question ID : 223395652
Status : Answered
Chosen Option : A

Q.9

Ans

Find out the different number.

o A1
X B.2
Xca3
X D.4

2355
2753
7158
7459

Question ID : 223395658
Status : Not Answered
Chosen Option : --

Q.10

Ans

Pointing to a photograph of a boy, Suresh said ,” He is the son of the only son of my mother .”

How is Suresh related to that boy ?

(a) Brother
(b) Cousin
{c ) Uncle

(d) Father

X A1
X B.2
X cC.3
o D. 4

Question ID : 223395663
Status : Answered
Chosen Option : D
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Q.11
A man has three bags. There are 4 marbles of different colours in first bag, 5 marbles of

different colours in second bag and 3 marbles of different colours in third bag. If two
colours are such which are only in first and second bag and one colour in such which is
in all the three bags, how many different colours are in all the three bags?

(a) 10

(b) 9

(c) 7

(a) 8

Ans X A1
X B.2
X C.3
& D.4

Question ID : 223395675

Status : Answered

Chosen Option : A

Q.12
In the question, some situations have been described in some sentences and after it a

conclusion is given. On the basis of the statements, decide whether the conclusion is
correct or false.

Statements I : Tails of peacocks are shining long.
II : Peacocks dance gloriously.
II1 : Cranes also dance gloriously.
Conclusion : The tail of Crane should be shining long.

(a) the conclusion is correct.
(b) the conclusion is more than expected.
(c) it is false and give answer
(d) it is doubtful.
Ans X A.1

X B.2

X C.3

' D. 4

Question ID : 223395669

Status : Answered

Chosen Option : C

Q.13
Find out the odd letter group from given alternatives.

(2) CORDIAL
(b) CORIANDER
(c) CORDATE
(d) CORNEA

Ans X A.1
& B.2
& C.3
X D.4

Question ID : 223395662

Status : Not Answered

Chosen Option : --
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Q.14
If the digits in the number 9457382 are arranged in descending order from left to right,

what will be the sum of the digits which are fifth from the right and fourth from the left
in the new arrangement?

(a) 17

(b) 10
(c)13
(d)12

Ans X A.1
X B.2
X C.3
& D.4

Question ID : 223395666
Status : Answered
Chosen Option : D

Q15 If in a certain language, MOBILITY is coded as 46293927, how is EXAMINATION

coded in that language?
(a) 67250623076
(b) 56149512965
() 45038401854
(d) 57159413955

Ans X A1
 B.2
K C.3
X D.4

Question ID : 223395655
Status : Answered
Chosen Option : B

Q.16
In a certain code language , *pic vicnic’ means “winter is cold’, ‘to nic re’ means

‘summer is hot’, ‘re pic boo’ means ‘winter and summer’ and ‘victho pa’ means
‘night are cold’. Which word in that language represents ‘summer’?

(a) nic

(b) re

() to

(d) vic

Ans X A1
 B.2
< C.3
X D.4

Question ID : 223395654
Status : Answered
Chosen Option : B
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Q.17

Ans

ITARUL is coded as 52, then BINA will be coded as
(a) 26
(b) 40
(c) 42

(d) 30

o A1
X B.2
Xcs3
X D.4

Question ID : 223395664
Status : Not Answered
Chosen Option : --

Q.18

Ans

A, B, C. D and E are five rivers. A is shorter than B but longer than E. C is the
longest and D is a little shorter than B and little longer than A. Which is the shortest
river?

(2 B
b C
(© D
@ E
X A1
X B.2
Xc.3

& D.4

Question ID : 223395653
Status : Answered
Chosen Option : D

Q.19

Ans

Directions - The numbers in the question are coded from the following list-

Digit: 379251486
Letters :YP KT NBSDV
Find out which one of the answers is the correct coded form of the given nnmber in the
question.
739521
(m PY KNTN
)y PYKNTB
() PYTNKB
(M) PYKBTN

X A1
& B.2

X C.3
X D.4

Question ID : 223395671
Status : Answered
Chosen Option : B
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Q.20

Ans

If 2x6=3,.3x9=3and 4x 20 =35 then 5Sx40=?
(a) 200
(b) 15
() 8
(4 7

X A1
X B.2
& C.3
X D.4

Question ID : 223395651
Status : Answered
Chosen Option : C

Q.21

Ans

Find out the letter group which is different from the rest.
(a) ACCUSE
(b) OPAQUE
(c) ASSUME
(d) ANIMAL

X A1
X B.2
X C.3
o D. 4

Question ID : 223395660
Status : Not Answered
Chosen Option : --

Q.22

Ans

A team of five members is to be formed from five boys P, Q, R, 5 and T and four girls A, B, C,
and D. Some of the necessary conditions ave: (i) P and S are to remain together; (ii) Q cannot
remain together with B or C; (iii) R and A have to remain fogether; and (iv) T cannof remain
with A or D.

If Q is one of the members, then the other members are —
(a) APRS
(b) ADRS
(¢) BCPT
(d) ADRS
o A1
X B.2
X C.3
X D.4

Question ID : 223395672
Status : Answered
Chosen Option : D
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Q.23

Ans

In the following four groups of letters, one group is different from the other three
groups. Find out the group which is different from the rest.

(2) XWVUY
(b) EDCBA
(¢) JIHGF
(d) ONMLK
o A1

X B.2

X C.3

X D.4

Question ID : 223395673

Status : Not Answered

Chosen Option : --

Q.24

Ans

Find out the different number.
(a) 600
(b) 500
(c) 200
(d) 700

X A1
X B.2
& C.3
X D.4

Question ID : 223395659

Status : Answered

Chosen Option : C

Q.25

Ans

The question below is followed by two arguments numbered I and 11 Decide which of
the argnment is a strong argument.

Statement: Should system of reservation of posts of socially and economically
disadvantaged group/caste be introduced in private sector?
Arguments

I: Yes, this would give more opportunities of development to these group/casies
II: No, nowhere else in the world such a practice is being followed.

(2) only argnment 1 is strong.
(b) only argument IT is strong.
(c) either T or IT is strong.

(d) neither I nor II is strong

& A1
X B.2
X C.3
X D.4

Question ID : 223395668

Status : Answered

Chosen Option : D
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Q1
The word journalism is derived from:

(a) French
(b) German
(c) Greek
(d)Latin

Ans X A.1
X B.2
K C.3
& D.4

Question ID : 223395692
Status : Answered
Chosen Option : D

Q.2
Community Radio majorly serves the purpose of?
(a) Social Inclusion
(b) Government Propaganda
(c) Infotainment
(d) Profit

Ans A1
X B.2
K C.3
< D.4

Question ID : 223395700
Status : Answered
Chosen Option : B
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Q.3
Which of these is not part of new media?

(a) OTT platforms
(b) Podcast

(¢) Email

(d) Street Theatre

Ans X A.1
X B.2
K C.3
& D.4

Question ID : 223395689
Status : Answered
Chosen Option : D

Q4
When a photograph is edited to adjust the color balance, it is called

(a) Color Doppler Effect
(b) Color Correction
() Color Separation

(d) Color Consistency

Ans X A.1
 B.2
X C.3
K D.4

Question ID : 223395684
Status : Answered
Chosen Option : D

Q.5
Which of these is likely to be an example of soft news?

(a) Bengal Extends COVID-19 Lockdown, News Guidelines Issued

(b)yHow India’s COVID-19 Crisis Is Devastating the Local Entertainment Sector

(c) Fonr New COVID Variants Found

(d) AstraZeneca Tests Modified Booster Jab Against Beta Variant of Covid-19-Results

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395690
Status : Answered
Chosen Option : D

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S1D13/16311690860235370/11...  33/42



9/13/21, 7:24 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S1D13/16311....

Q.6
Media scholars and researchers argue that-—— is the Fifth Estate of democracy?

(a) Student Unions

(b) Blogging and Social Media

(¢) Non-Governmental Organizations
(d) Citizens

Ans X A.1
o B.2

K C.3
< D.4

Question ID : 223395680
Status : Answered
Chosen Option : B

Q.7

What is the full form of CSR?

(a) Corporate Sustainability Report
(b) Common Shared Responsibility
(¢) Corporate Social Responsibility
(d) Creative Sustainable Research

Ans X A.1
X B.2

& C.3
X D.4

Question ID : 223395686
Status : Not Answered

Chosen Option : --
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Q.8
Harish works as an editor in a news organization and his job includes being a

‘catekeeper” amongst other things. Which among the following does not come
under his job role?

(a) limiting the information through editing after dissemination
(b) reorgamizing the information gathered before dissemination
(c) expanding the amount of information by injecting additional views

(d) reinterprefing the information gathered before disseminating it

Ans A1
X B.2
K C.3
X D.4

Question ID : 223395697
Status : Answered
Chosen Option : B

Q.9

‘Who is the first female photo journalist of India?

(a) Sharda Ugra

(b) Coomi Kapoor

(¢) Homai Vyarawalla
(d) Gauri Lankesh

Ans X A.1
< B.2
& C.3
X D.4

Question ID : 223395676
Status : Not Answered
Chosen Option : --
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Q.10
‘Which of these is a component of Public Relations?

(a) Public Affairs

(b) Media Relations

(¢) Community Relations
(d) All of the above

Ans X A1
X B.2
X C.3
& D.4

Question ID : 223395677
Status : Answered
Chosen Option : D

Q11 The Ecstasy of Communication, a popular post-modern reading is authored by?

(a) Maurizio Lazzarato
(1) Paul Virilio

(¢) Jean Baudrillard
(d) Félix Gunattari

Ans X A.1

X B.2

« C.3

X D.4

Question ID : 223395691
Status : Not Answered
Chosen Option : --

Q.12

The Right to Information Act was enacted in?

(2) 2003
(b)2007
(c) 2005
(d)2004

Ans X A1
X B.2
& C.3
X D.4

Question ID : 223395695
Status : Answered
Chosen Option : B
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Q13

Tvpography includes

(a) Font Size & Font Style
(b) Keyboard & Mouse

(c) Typewriter & Keyboard
(d) None of the above

Ans AT
X B.2
X C.3
X D.4

Question ID : 223395682
Status : Answered
Chosen Option : A

‘Which among the following is nof a social networking service platform?

(a) Instagram
(b) VK

(c) Facebook
(d) Paytm

Ans X A1
7 B.2
X C.3
& D.4

Question ID : 223395698
Status : Answered
Chosen Option : B
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Q.15

Ans

What is a Pixel?

(a) A tiny dot or square containing visual data
(b)Digital Memory of the phone

(c) Lighting sensors in a camera

(d) Stock Images

o A1
X B.2
Xc3
X D.4

Question ID : 223395679
Status : Answered
Chosen Option : C

Q.16

Ans

Name of the reporter included below the headline in a newspaper or a magazine is

called as

(a) Subhead
(b) Dateline
(¢) Byline
(d) Lead

X A1
XB.2
& C.3
X D.4

Question ID : 223395683
Status : Answered
Chosen Option : D
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Q17
Madhuri has dyslexia. What would be the most suitable medium that would help her
in learning?

() E-book
(b) Textbook
(c) Audiobook

(d) Notebook

Ans X A1
X B.2
& C.3
X D.4

Question ID : 223395699
Status : Answered
Chosen Option : C

Q.18

What is micro-blogging?

(a) Sponsored Blogposts
(b)Short and Small web-posts
(c) Mobile blogging

(d) Viral Content Blogging

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395681
Status : Answered
Chosen Option : B
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Q.19

Ans

Walt Disney, Sony and Time Warner are examples of:

(a) transnational corporations

(b) ownership concentrated within one medium
(¢) government-owned companies

(d) all of the above

o A1
X B.2
X cC.3
X D.4

Question ID : 223395694
Status : Answered
Chosen Option : A

Q.20

Ans

What is a hashtag?

(a) A Social Media Platform

(b) A metadata tag for indexing digital content
(c) An Instagram Challenge

(d) A pound symbol used to post pictures only

X A1
 B.2
K C.3
X D.4

Question ID : 223395687
Status : Answered
Chosen Option : B

Q.21

Ans

Which of the following is an example of social media network?

(a) Google

(b) Mlicrosoft Edge
(c) Twitter

(d) Rediff

X A1
X B.2
& C.3
X D.4

Question ID : 223395693
Status : Answered
Chosen Option : C
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Q.22

TRALI is responsible for

(a) Telepathy

(b) Radio signal transmission
(¢) Trademark Registration

(d) Telecommunication Regulation

Ans X A1
X B.2
K C.3
& D.4

Question ID : 223395685
Status : Not Answered
Chosen Option : --

Q.23
What is a “MOJO” in the field of journalism?

(a) Local Community Media Reporting

(b) A Motivated Journalist with a quality to influence
(c) Digital Storytelling using Mobile Media

(d) A mobile app for journalism industry updates

Ans X A.1
x B.2

& C.3
X D.4

Question ID : 223395678
Status : Answered
Chosen Option : B
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Q.24
Which of these is not an essential part of a photograph?

(a) Background
(b) Foreground
(¢) Middle ground
(d) Side ground
Ans X A.1
X B.2
X C.3
& D.4

Question ID : 223395688
Status : Answered
Chosen Option : B

Q.25
Which of the following is a dysfunction of social media?

(a) transmission of cultures
(b)spreading of misinformation
(c) creation of virtual communities
(d) creating business opportunities

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 223395696
Status : Not Answered
Chosen Option : --
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